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C: 91.5¢
D: 162.5¢g
Topic: Chemistry-Section A
Iltem No: 62

Question ID: 1269462

Question Type: | MCQ

Jot 93 9a fedaeai © anificd »id 7a |
A a=3,1=2 mj=1 m =+l2
B.n=4,1=1,m=0,m =+1/2

Question: C.n=41=2, m=-2, m =-1/2
D.n=3,1=1,mj=<1,m =+12
U I8 QoA T AT gH J

A: D<B<A<C

B: DEA<B<E

C: B<D<A<C

D: B<D<(C<A

Topic: Chemistry-Section A

Item No: 63

Question ID: 1269463

Question Type: | MCQ




C(s) + Oy(g) — CO,(g) + 400 kI
C(s) +%03{g) — CO(g) + 100 kJ

e dfes 7 60% B I.fend e wrartns <t vigeatt &g men Aier g

Question: =
60% F19HE, <CO’ (29 528 Akl J w3 94l ‘C0,” [€910.6 ke E8 § ABGE
T8 IyGaw U gl dI

A 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kJ

Topic: Chemistry-Section A

Item No: 64

Question ID: 1269464

Question Type: | MCQ

200 mL of 0.01 M HC1 & 400 fHE! 0.01M H,50, '8 fHEGY Ts 37 fHags &t
pH J

Question:
9373 log 2=0.30. log 3=0.48 . log 5 =0.70, log 7=0.84, log 11 = 1.04
A: 1.14
B: 1.78
C: 2.34
D: 3.02
Topic: Chemistry-Section A
Item No: 65
Question ID: 1269465
Question Type: | MCQ
Jot g% I i3 IUHTs 93 I Ia:
IR I3 U (K
He 5.2
CH, 190.0
Question: CO, 3042
NH; 4055
gzt om fen ferfas W3 9gas 2 Gug weale it 7=t 91
A: He




B: CH,
CO,
D: NH;
Topic: Chemistry-Section A
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Question ID: 1269466
Question Type: | MCQ
Question: fea(sn)E TSigds =t fedt fieg a3 E
A: Ut E18 fafgn ggerel /il J
B U g ysed
C: & Teidds fgg v Gud
D <1 dIBE NaOH 75 dizraw d
Topic: Chemistry-Section A
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Question ID: 1269467
Question Type: | MCQ
J&1 2 985 3 9I5|

TES [ ACHG [2a nicd] Ieigeis < §odde J

Question: FES I1: ACAHS o AH3EI mic J
Sudas g6 wg <3 3 I¢ feasyi fdd Ag 3 Ea< G393 53|
A: FEE [ 3 TES 11 B Adl I8 |
B: FE5 [ 3 FEE 11 v dI%3 I&|
C: FE5 1 Adl J Ud 986 11 9153 |
D: FE5 1 I3 J Ud FE& 11 Al J
Topic: Chemistry-Section A
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Question ID: 1269468
Question Type: | MCQ

Ugess HifHe 129 X Hge J J 7 HifHe § U3 ag8 ¥ A euge 15X &

Question: ﬁ?

] |
A: CaS0y = H,0
B: CaS0O, - 2H,0

CaSO,




D: CaCO4

Topic: Chemistry-Section A
Item No: 69

Question ID: 1269469

Question Type: | MCQ

X HI9H & CoO 3S URIHE BUISSI g IoH A3 Aie d I a3 Jar @

Question: HEET[E = E(HQ)W% =
A: B,0;,

B: Co(BO,),

C: CoB,404

D: Co[B405(OH)4]

Topic: Chemistry-Section A

Item No: 70

Question ID: 1269470

Question Type: | MCQ

Jot 13 T 30-03 wifes He 3 e Maasdll TERHES (A, H) 7 ferg urdd

Question: R —
A: Cre™

B: MnZ™

C: Fel®

D: Col™

Topic: Chemistry-Section A
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Question ID: 1269471

Question Type: | MCQ

W6 e&dl AUd (1) SU AfgAEA Wi »ifq3! feu seae@w-c8qg) 193

Question: W(H)ﬁmﬁ%ﬁ@ﬂggﬁmﬁﬂwml
(en —STESETE FEMHHIS: H,N-CH,-CH,-NH,)

A: [Cu(H,0)4]80,

B: [Cu(en)(H,0),4]80,

C: cis-[Culen),Cl,]

D: trans-[ Cu(en),Cl,]

Topic: Chemistry-Section A




Item No: 72
Question ID: 1269472
Question Type: | MCQ

Selarelens fBq Jare Wig J ud Burel Gud wiamels segw d ifaga

Question: BTEICHE T FATES 1 Ufeni € U3l § yare Sge »13 YaH HASHS o
fafau & welGer J|

A: NO
B: No_q_
C: NO,
D: NOE_
Topic: Chemistry-Section A
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Question ID: 1269473
Question Type: | MCQ
Question: -HIETES AEies JaHa Saei@siare’s v Hdl wig3! J

O

|
A: H

i
B: \.\O/CHz —C—H
0
||
i
% CHy—C—H

D:
Topic: Chemistry-Section A

Item No:
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Question ID: 1269474
Question Type: | MCQ
wiae <4 I&1 {ed fafowret I 23t fod gmae I wiz g geger J ufaE B
ol 7l wifadt w2 arfeds gre = [where Ft =
C,Hs]
Question: (i) Mz, EtO .
(i) DO
Br
Compound 'A’
A: >—< o
D - chira
B: >_< , Chiral
oD
C: >_< .Chiral
D
D: >—/\ op Achiral
Topic: Chemistry-Section A
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Question ID: 1269475
Question Type: | MCQ
Jot i3 < 988 M3 I T |
CH,
‘ NO,
FESLUEE [ H JIH AHEE D
o
Question: ;
CHj (A)
CHj;
a0 | TYSiEe .
H R
s - CH;
Sua i3 988 2 wigrg §3 I51 i3 G340 fed 73 3 29t G539 92|




A: FEE [ W3 TEE 11 B Adl I8 |
B: FEE [ 03 FEHS 11 T2 dI%3 I |
C: FE& [ Hdl J Ud F8E 11 3183 J|
D: FE& 1 IB3 J Ud FEE 11 A J
Topic: Chemistry-Section A

Item No: 76

Question ID: 1269476

Question Type: | MCQ

< 21838 & 913 H,80, &8 JIgH o137 /e J 31 o 9iA U J<i J 177< fen

Question: diA g 43 Ul 9 984 Ut T 78l WS &8 ySiiaign 995 §3 5cw
g J

A: eTaH Wizt aEE
B: erafHa wfAs
C: JSEAS
D: feafea wifs
Topic: Chemistry-Section A
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Question ID: 1269477
Question Type: | MCQ
Question: [EECCIREECLEEIR]

0]

Il
A: i%l -l

0

N," CI
- O
9]
C: N K
4]




- Lo

Topic: Chemistry-Section A
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Question ID: 1269478

Question Type: | MCQ

Question: Jot o2 gusa f2d faoz ffe geast 9gs« adt 02
A: 112:]'5

B: HJdd

C: GLES

D IS

Topic: Chemistry-Section A
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Question ID: 1269479

Question Type: | MCQ

Jo1 93 2 guET 3 q o3 988 A w13 ¥77 9'ds 986 R @1 wilas Ji3
famr J|
Question: o3 986 A: wHE S U] 29 wiWSTHlS |

' IS R: WHEISH (09 & 34l wi d A 129 200 3 fopre e <
et I |
SUg i3 g8 T »d §3 J61 73 feaayi i A3 3 ga< §3a 52|

A: AMIRES AT TS R, A € A fonfmn I

B: A3 R TS HI TS R. A € A fenim w4t J
C: ARG UIRIEI I

D: ARG &I IYIR AN D

Topic: Chemistry-Section A
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Question ID: 1269480

Question Type: | MCQ

e Wige X € IHEd 379 J 13 991 ¥ S8 Tage J 1k pH B fig
Question: T SAE(3)de [5d8U3T ¥ NaOH W3 CH;COOH 9JHdl(feag=idn)

feg o x wifeat 91 3as &9 urd Wit €9 Je7 J ifa= X0 J




B: HiETds é%m

C: GRERERE

D: gidlaH §&4(@snT
Topic: Chemistry-Section B
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Question ID: 1269481

Question Type:

Numeric Answer

x’g TH M2 WIFTHTS (0,) § 200 g IH BATE (Ne) 29 THaTTenm w3
13 [ PHTHIS THETS 0, IH 3 Ne T THE ST €9 T 25 bar J[A Ne T

Question: WIS TE™ 20 bar 3 979 SUHG »E3 wfe3s 3T x THE I
fﬁt'"?fﬁ: 0, THBIITI=32 g mol ™.
Ne ©1HBd I/d = 20 2 mol ]

Topic: Chemistry-Section B

Item No: 82

Question ID: 1269482

Question Type:

Numeric Answer

H& PF.. BiF<. PCly, SFg. [IC1,]". CIF; and IF; SUIas migniimifesi <t faresi

Question: ; g s o
Il ffest €1 g Adas nieAd sp’d?  Jda|
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Question ID: | 1269483

Question Type:

Numeric Answer

1.80 WB3 A F 62.5 e’ THHAS 29 Wikt fam I %13 WS T 7HG =g
155.1 K SIAGO JWBS AT WTA T g mol 3|

Question: == J-EEEs TG T 156.0K
RS T we310.80 gem™
TS T HAHE T3 WEEHG AEd ¥id 2.00 K kg mol!)
Topic: Chemistry-Section B
Item No: 84
Question ID: 1269484

Question Type:

Numeric Answer




I HS Cu(s) | CuZ(0.001M) || Ag™ (0.01M) | Ag (s) 7S USHSB0.43V, 298 K 3
edH'Hﬂlﬁ‘chaﬁds HE USHS

Question: Cu®'/Cuis _ x10%V o
Given:E® =080V and 2ORT . noev
Ag” JAg
Topic: Chemistry-Section B
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Question ID: 1269485

Question Type:

Numeric Answer

H?%‘lpgésﬂﬁuaiﬂasxmﬂﬁhmwmmﬁ 9 Tux 92 Tou3 T

Question: AT AT 1100 IS IR Tau3 feg | x 107 lpe X Ifg Ar=ar|
(313 1n 10 =2.303: log 2 = 0.30)

Topic: Chemistry-Section B
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Question ID: 1269486

Question Type:

Numeric Answer

Na[Co(bpy)Cl,] [€9 WiaHITIE WEAe »f=3 AlTAWAIST 7 a3

Question:
Topic: Chemistry-Section B
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Question ID: 1269487
Question Type: | Numeric Answer
J& ABEd W3 WiagH- MRz W3 I8
Question: H,$05. H,S0,. H,8,04 ™3 H,S,0, &g viiah wiisi (€4 g €3 uanran
(0-0) 9U& ot faresit JIs
Topic: Chemistry-Section B
Item No: 88
Question ID: 1269488

Question Type:

Numeric Answer

Question:

1.84 THETIH Y& [€q 9gaei3iad »addi&d Widie <X fAAe wie< 319
92.0 IHMB I 1.344 figl nuLHzﬁ’Im‘?‘;@ﬁllﬁ“faﬁ' x g farest

fafgumHie Sarel TeigAs Hoge J/ds|




Topic: Chemistry-Section B

Iltem No: 89

Question ID: 1269489

Question Type: | Numeric Answer

(+) Ph (C=0)C(OH)(CN)Ph & HON && Y[3fafamr 3 farest yard
Question: HH@aE 982 75|

[ff8 Ph = C4H,]
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Question ID: 1269490

Question Type: | Numeric Answer

Question: TEINHEIES »i3 TEI0EEAS (9 a8dls 33T vl faesi ea w3 I&|




